
Q1) a) Fill in the blanks (Any Five) : [5]

i) The capacity of Bank to earn profit is called __________.

a) Profitability b) Liquidity

c) Security d) Sutability

ii) CIBIL stands for ___________.

a) Credit Information Bureau International Ltd.

b) Credit International Bureau India Ltd.

c) Credit Information Bureau India Ltd.

d) Credit Information Board International Ltd.

iii) A cheque dated subsequent to the date of its issue is __________.

a) Post dated cheque b) Blank cheque

c) Crossed cheque d) Order cheque

iv) A Negotiable Instrument drawn within a country is known as
_________.

a) Inland b) Foreign

c) Time d) Clean
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v) Blank Endorsement is also called as __________.

a) Full Endorsement b) Qualified Endorsement

c) General Endorsement d) Special Endorsement

vi) The ATM installed at bank premises is called as ___________.

a) Off-Site b) Branch

c) On-Site d) Internal

b) Match the following : [5]
i) ICRA a) IFCI

ii) Liquidity b) Cash Withdrawal

iii) Negotiable Instruments c) Person who Endorses the
Instrument

iv) Endorser d) Cheque

v) ATM e) Decrease in profitability

Q2) Explain the Balance Sheet of Bank. [15]

Q3) What is Negotiable Instruments? Explain the features of Negotiable
Instruments. [15]

Q4) What is Endorsement? Explain the types of Endorsement. [15]

Q5) Explain the role and uses of Technology in Banking. [15]

Q6) Write Short Notes (Any Three) : [15]
a) CIBIL

b) Types of crossing

c) Effects of Endorsement

d) Mobile Banking

e) Parties to a cheque
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3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.
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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am (H$moUVohr nmM) … [5]

i) ~±Ho$À`m Z\$m {_i{dÊ`mÀ`m j_Vog ................... åhUVmV.

A) Z\$m ~) VabVm

H$) gwajm S>) AZwê$nVm

ii) gr. Am`. ~r. Am`. Eb. Mo nwU© ê$n ..................

A) H«o$S>rQ> BÝ\$_}eZ ã ỳamo B§Q>aZ°eZb {b{_Q>oS>

~) H«o$S>rQ> B§Q>aZ°eZb ã ỳamo B§{S>`m {b{_Q>oS>

H$) H«o$S>rQ> BÝ\$_}eZ ã ỳamo B§{S>`m {b{_Q>oS>

S>) H«o$S>rQ> BÝ\$_}eZ ~moS>© B§Q>aZ°eZb {b{_Q>oS>

iii) YZmXoe H$mT>Vm§Zm Ë`mda nwT>rb Vm[aI Q>mH$br Ombo Ë`mg ................ åhUVmV.

A) CÎma {XZm§{H$V YZmXoe ~) H$moam YZmXoe

H$) aoIm§{H$V YZmXoe S>) AmXoe YZmXoe

iv) Xoem§VJ©V H$mT>boë`m MbZj_ XñVEodOmg ............... XñVEodO åhUVmV.

A) Am§VaXoer` ~) {dXoer

H$) g_`{Y{ð>V S>) ñdÀN>
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v) H$moè`m n¥ð>m§H$ZmbmM ................ Ago Xo{Ib åhUVmV.

A) nyU© n¥ð>m§H$Z ~) nm` n¥ð>m§H$Z

H$) gm_mÝ` n¥ð>m§H$Z S>) {deof n¥ð>m§H$Z

vi) ~±H$ AmdmamV ñWm{nV E. Q>r. E_. bm ................ E. Q>r. E_. åhUVmV.

A) Am°\$-gmBQ> ~) emIm

H$) Am°Z-gmBQ> S>) A§VJ©V

~) OmoS>çm bmdm … [5]

i) ICRA A) IFCI

ii) amoIVm ~) n¡go H$mT>Uo

iii) MbZj_ XñVEo~O H$) gmYZm§Mo n¥ð>m§H$Z H$aUmam

iv) n¥ð>m§H$Z S>) YZmXoe

v) ATM B©) Z\$mj_VoV KQ>

àíZ àíZ àíZ àíZ àíZ 2) ~°Ho$À`m Vmio~§X nÌH$mVrb ~m~r g{dñVa ñnîQ> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 3) MbZj_ XñVEo~O åhUOo H$m`? MbZj_ XñVEo~OmMr d¡{eï> ò ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 4) n¥ð>m§H$Z åhUOo H$m`? n¥ð>m§H$ZmMo àH$ma ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 5) ~±H$ ì`dgm`mV V§ÌkmZmMr ŷ{_H$m d Cn`moJ ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm (H$moUVohr VrZ) … [15]

A) CIBIL ({g{~b)

~) aoIm§H$ZmMo àH$ma

H$) n¥ð>m§H$ZmMo n[aUm_

S>) _mo~mB©b ~±{H$J

B) YZmXoemMo nj




